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ECONOMICS

MAEC - 06

Indian Economy Development

Hkkjrh; vFkZO;oLFkk dk fodklHkkjrh; vFkZO;oLFkk dk fodklHkkjrh; vFkZO;oLFkk dk fodklHkkjrh; vFkZO;oLFkk dk fodklHkkjrh; vFkZO;oLFkk dk fodkl
Time : 3 Hours] [Max. Marks : 60

Note : The Question Paper is divided into three Sections - A, B and C. Attempt each section

according to the instruction.

iz'ui= v] c vkSj l rhu [k.Mksa esa foHkDr gS A izR;sd [k.M ds iz'uksa dk funsZ'kkuqlkj
mÙkj nsa A

Section - A

[k.M & v[k.M & v[k.M & v[k.M & v[k.M & v
(Long Answer Questions)

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½
Answer any two questions. Each question carries 15 marks. 2 × 15 = 30

fdUgha nksnksnksnksnks iz'uksa ds mÙkj nhft;s A izR;sd iz'u 15 vad dk gS A
1. Explain precisely the reasons of regional economic disparities in India. How far have

the disparities in infra-structural investments been responsible for low pace of growth

in the lagging regions of India ? 7½+7½ = 15

Hkkjr esa O;kIr {ks=h; vkfFkZd fo"kerkvksa ds dkj.kksa dk lw{er% foospu dhft, A fiNM+s
{ks=ksa esa fodkl dh vR;Ur /kheh xfr ds fy, ewyHkwr fodklh; vojpukvksa esa fuos'k dh
fo"kerk dks dgk¡ rd mÙkjnk;h ekuk tk ldrk gS \
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2. Discuss the main indicators of economic growth in Indian economy. Explain the strategy

of sectoral growth adopted under Indian Economic Planning. 5 + 10 = 15

Hkkjrh; vFkZO;oLFkk esa vkfFkZd o`f) ds eq[; |ksrdksa dh foospuk dhft, A ;kstukdky
esa Hkkjrh; vFkZO;oLFkk ds fofo/k mRiknu {ks=ksa esa fodkl dh O;wg jpuk dk foospu
dhft, A

3. Analyse precisely the role played by increased irrigation, effective land reforms and

technological change in agricultural growth of India. 5 + 5 + 5 = 15

Hkkjrh; Ñf"k ds fodkl esa flapkbZ dh mÙkjksÙkj o`f)] izHkkoh Hkwfe&lq/kkjksa rFkk Ñf"k&xr
izkfof/kd ifjorZu ds ;ksxnku dk fo'ys"k.k dhft, A

4. Discuss the nature of Indian 'food problem'. How far the failure of 'public distribution

system (PDS) of food grains been responsible for occurence of 'Starvation deaths' in

India. 7½+7½=15

Hkkjr dh [kk| leL;k ds LoHkko dk foospu dhft, A Hkkjr esa dgk¡ rd Hkw[k&tfur
e`R;q dh ?kVukvksa ds fy, ^lkoZtfud [kk| forj.k O;oLFkk* dh vlQyrk dks ftEesnkj
ekuk tk ldrk gS \

Section - B

[k.M & c[k.M & c[k.M & c[k.M & c[k.M & c
(Short  Answer Questions)

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½
Answer any four questions.Each question carries 5 marks.  5×4=20

fdUgha pkjpkjpkjpkjpkj iz'uksa ds mÙkj nhft, A izR;sd iz'u 5 vadksa dk gS A
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1. Briefly evaluate the efforts for promoting agricultural education, research and training

in India after 1951. 5

Hkkjr esa] 1951 ds mijkUr] Ñf"k&lUnHkhZ f'k{kk] vuqla/kku ,oa izf'k{k.k ds fy, fd, x,
iz;klksa dk laf{kIr foospu dhft, A

2. What is 'decentralised planning' ? How is it distinct from 'Centralised Planning'. 5

fodsUnzhÑr vkfFkZd fu;kstu ls D;k vfHkizk; gS \ ;g dsUnzhÑr fu;kstu ls fdl izdkj
fHkUu gksrk gS \

3. 'Disguised unemployment' is actually a state of low productivity of labour when marginal

labour productivity falls to zero or near zero.' Discuss and illustrate by diagram.

4 + 1 = 5

^Nn~e csjkstxkjh dh n'kk okLro esa Je dh uhph mRikndrk dh gh n'kk gksrh gS ftlesa
Je dh lhekar mRikndrk 'kwU; vFkok 'kwU; ds fudV rd fxj tkrh gS A* leh{kk dhft,
vkSj fp= }kjk le>kb, A

4. Explain 'Sectoral terms of trade' between agriculture and industry in India during the

planned era. 5

Hkkjr ds vkfFkZd fu;kstu dky esa Ñf"k vkSj m|ksx {ks=ksa ds chp ^O;kikj&'krks± dh fn'kk
le>kb, A

5. What is poverty ? Why its incidence is greater in rural areas of India. How can this

problem be solved ? 2 + 2 + 1 = 5

vkfFkZd foiUurk ¼xjhch½ D;k gksrh gS \ blds Hkkjrh; xk¡oksa eaas vf/kd gksus ds D;k
dkj.k gSa \ bl leL;k dk funku dSls gks ldrk gS \

10. National Bank for Agriculture and Rural Development (NABARD) was established in

the year :

(a) 1969

(b) 1982

(c) 1992

(d) 1978

jk"Vªh; Ñf"k ,oa xzkE; fodkl cSad ¼ukckMZ½ dh LFkkiuk gqbZ %
(a) 1969 esa
(b) 1982 esa
(c) 1992 esa

(d) 1978 esa
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6. What are the reasons behind consistently rising 'public expenditure' and growing 'public

debt' in India during the last six decades ?

Hkkjr esa fiNys Ng n'kdksa ls ̂ yksd&O;;* vkSj ̂ lkoZtfud _.k* ds yxkrkj c<+us ds D;k
dkj.k gSa \

7. Briefly analyse the role played by development of 'Basic Industries' in overall economic

growth in manufacturing sector of Indian economy. 5

Hkkjrh; vFkZO;oLFkk ds fuekZ.kd {ks= ds fodkl esa vk/kkjHkwr m|ksxksa ds fodkl dk
;ksxnku la{ksi esa fo'ysf"kr dhft, A

8. Why the balance of payments of India are generally unfavourable ? Explain the role

'Foreign Direct Investments' can play in turning than in India's favour. 2 + 3 = 5

Hkkjr dk ̂ Hkqxrku&lUrqyu* izk;% foijhr D;ksa jgrk gS \ ̂ izR;{k fons'kh iw¡th fuos'k* dgk¡
rd bls vuqdwy dj ldrk gS \

Section - C

[k.M & l[k.M & l[k.M & l[k.M & l[k.M & l
Objective Questions (Compulsory)

oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½

Answer all questions. Each question carries 1 marks. 1×10=10

lHkhlHkhlHkhlHkhlHkh iz'uksa ds mÙkj vfuok;Z gSa A izR;sd iz'u 1 vad dk gS A

Make the correct alternative answer with the tick marks (P) :

(a) Mangolia

(b) Japan

(c) U. S.

(d) China

fdl ns'k us Hkkjrh; tSfod&lEink vkSj LoRokf/kdkj lanHkhZ vf/kdkjksa dh pksjh dh uhe
ds iÙkksa ds dhV&uk'kd xq.kksa dh tkudkjh] VSDrerh o dkLerh pkoy fdLeksa] vkSj gYnh
ds vkS"kf/kd mi;ksx ds ikjLifjd Kku vkfn ij nkok fd;k A

(a) eaxksfy;k

(b) tkiku

(c) vesfjdk

(d) phu

9. What does 'Land Reform' mean ?

(a) Change in texture of soil

(b) Consolidation of holdings, change in ownership of land and rights of tenants

(c) Irrigational growth on land

(d) None of the above

^Hkwfe lq/kkj* ls D;k rkRi;Z gS \

(a) feV~Vh esa ifjorZu

(b) pdcUnh] HkwLokfeRo vkSj Ñ"kdksa ds vf/kdkjksa eas cnyko

(c) flapu&lk/kuksa dk fodkl

(d) mijksDr esa dksbZ ugha
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1. The term 'Economy' indicates :

(a) status of resources, man power, economic organisation and resultant economic

welfare

(b) Land use pattern and crop-value

(c) Status of global economic contacts

(d) State of economic livelihood

^vFkZO;oLFkk* dh vo/kkj.kk |ksrd gS %
(a) lalk/kuksa dh n'kk] tu'kfDr] vkfFkZd fØ;k la;kstu ,oa vkfFkZd dY;k.k dh

fLFkfr
(b) Hkwfe mi;ksx dk <kapk o Qly&ewY; dh
(c) oSf'od vkfFkZd lEidZ dh |ksrd
(d) vkthfodksiktZu ds Lrj dk |ksrd

2. A parallel economy operates in India even outside the control of Reserve Bank. It is

called :

(a) Foreign money

(b) Fake money

(c) Hot money

(d) Black Money

Hkkjr esa fjtoZ cSad ds fu;a=.k ds ijs Hkh ,d lekukarj vFkZO;oLFkk pyrh gS ftls dgrs gSa %
(a) oSnsf'kd eqnzk /ku
(b) QthZ eqnzk /ku
(c) m".k /ku
(d) dkyk /ku

fuEukafdr O;kikj&jr ns'kksa esa fdlls Hkkjr esa fd, x, vk;krksa }kjk Hkkjr ds
y?kq&m|ksxksa ds mRiknksa dks gkfu gks jgh gS D;ksafd ;g ns'k jkf'k&iru ls fu;kZr c<+k jgs
gSa A
(a) ckaxyk ns'k
(b) ikfdLrku
(c) phu
(d) Jhyadk

7. The incremental capital output ratio during 11th Five Year Plan has fallen to 4.1 as

compared to 4.3 in the Tenth Plan.

(a) True

(b) False

(c) Can't say

(d) Undecided

X;kjgoha iapo"khZ; ;kstuk esa o`f)d iw¡th mRikn vuqikr] nloha ;kstuk dh rqyuk esa] 4.3

ls ?kVdj 4.1 gks x;k gS A
(a) lR;
(b) vlR;
(c) vKkr
(d) vfuf.kZr

8. Which country has indulged in biopiracy of Indian Herbal Wealth and copyright on

Indian traditional Knowledge in context of use of Neem, (leaves as pesticide) Texmati

and Kasmati (rice varieties) and turmeric (Haldi for medine)
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3. Priority sector lending by Indian Commercial Banks got special policy support after :

(a) 1951

(b) 1969

(c) 1992

(d) 2000

Hkkjrh; okf.kfT;d cSadksa }kjk izkFkfedrkiw.kZ {ks=ksa esa _.k iznku djus dh uhfr us fo'ks"k
uhfrxr cy izkIr fd;k %
(a) 1951 ds ckn
(b) 1969 ds ckn
(c) 1992 ds ckn
(d) 2000 ds mijkUr

4. Specified duty free enclaves of development deemed as foreign territories for trade,

duties and tariffs and holding fiscal and regulatory incentives for developers as well as

for units within their. These are outside the regulation by Labour Commissioners. These

are called :

(a) Free-market areas

(b) Border areas

(c) Free enterprise enclave

(d) Special Economic Zones

,sls fufnZ"V fof'k"V {ks=] ftUgsa O;kikj] lkekU; djksa] vk;kr iz'kqYd] dh n`f"V ls
fons'kh&{ks= ekuk tkrk gS] vkSj foÙkh; ,oa fu;ked izyksHku lHkh bdkb;ksa vkSj fodkl
dÙkkZvksa dks gkfly gksrs gSa A ogk¡ Je&vk;qDr dh fu;ked ifjf/k Hkh lekIr gksrh gS og
{ks= dgykrs gSa %

(a) Lora= cktkj&{ks= (AMI)

(b) fo'ks"k lhek&{ks= (SBZ)

(c) Lora= miØe {ks= (AEZ)

(d) fof'k"V vkfFkZd {ks= (SEZ)

5. The distribution of financial resources between central and state governments is done

by :

(a) Resource Regulatory Authority

(b) Finance Commission of India

(c) Ministry of Economic Affairs

(d) Planning Commission of India

dsUnzh; ,oa jkT; ljdkjksa ds chp foÙkh; lalk/kuksa dk foHkktu fdlds }kjk fd;k tkrk
gS \
(a) lk/ku fu;ked izkf/kdj.k }kjk
(b) Hkkjr ds foÙk vk;ksx }kjk
(c) vkfFkZd ekeyksa ds ea=ky; }kjk
(d) Hkkjrh; ;kstuk vk;ksx }kjk

6. Indian imports, from which of the following trading nations, are hitting products of

small scale industries due to the dumping practices of exporting nation :

(a) Bangladesh

(b) Pakistan

(c) China

(d) Srilanka


